Key to Quiz VI; F4360; Fall, 1998

1.  Suppose that you own 1000 shares of One Oil (the last remaining petroleum company in the world) that has been trading for $139 per share.  Assume also that One Oil has just declared that it will pay a 10% stock dividend. What is the direct net effect of this dividend on your wealth?  Unaffected

2.  Suppose that on Wednesday, December 9th, Microsoftword Inc. (one of the many companies created by the breakup of the old Microsoft Inc.) announces that it will pay a dividend of $0.35 per share.  The ex-dividend date will be December 17th and the date of record will be December 23rd.  The payment date will be January 5th.  By when will you have to own the stock in order to receive the next dividend?  December 16th

3.  Assume you own 200 shares of Microsoftexcel Inc. (another of the companies created by the old Microsoft Inc.).  According to the dividend irrelevance theory, how is your wealth affected if Microsoftexcel pays an additional dividend of $0.14 per share?  Unaffected

4.  How does the fact that dividends are taxable income to investors affect the amount of money a company invests in real assets?  (Note:  assume management is acting in stockholder’s interests).  

Increased

5.  Assume that Microsoftwidows98 Inc. has just made an unexpected announcement that it intends to increase its dividend per share.  According to the signaling theory, how should Microsoftwindows98’s stock price change as a result of this announcement?  Increased

6.  Assume that MicrosoftwindowsNT Inc. has just announced that it will no longer pay dividends to its stockholders.  According to the stockholder/bondholder conflict theory, how should bond prices react to this announcement?  Increased

Use the following information to answer questions 7 though 10.

Microsoftinternetexplorer Inc. (whose stock is currently trading for $25 per share) is planning to repurchase 15,000 shares from its stockholders for $30 each through the issuance of transferable put rights.  Microsoftinternetexplorer plans to issue one put for each of the 250,000 shares that are currently outstanding.  Microsoftinternetexplorer’s stockholders and number of shares owned are as follows:  Jason - 30,000 shares, Karen - 12,000 shares, Greg - 50,000 shares, Sylvia - 25,000 shares, Sam - 38,000 shares, Sarah - 95,000 shares.

7.  What is the total value of the company after the repurchase is completed?  

5,800,000 = 250,000 (25) – 15,000 (30)

8.  What is the value per share after the repurchase is completed?
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9.  What is each put worth?
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10.  Which stockholder has gained the most by Microsoftinternetexplorer using transferable put rights to repurchase shares rather than repurchasing shares via a tender offer?  Sarah
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